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KEY FOR CLASS : 4

1. C 2. D 3. C 4. B 5.0 |6CD| 7.8B 8. D 9.B |10. D

11. C |[12.D |13. B |14. A (15 B |16.C 17.C |18.B [(19.C |20.D

2. C (22.D |23.C |24.D |25 A |26.C 27. A | 28.D [29.C |30.D

31. A [32.C |33.D (34.B |35 A

Explanations and answers to select questions

09. Articles are three in number. But their types are only two (that is what is asked in the
guestion) ‘Definite (the)’ and ‘Indefinite (a, an)’. So, option (B) is the correct answer.

23. Errors/corrections appear in brackets : He said he didn’t knew (know) what’s (what
was and not is or has as ‘s suggests) wrong with there (their) aunt. So, option (C) is
the correct answer.

31. Itisan advice. If ‘please’ would have been included, it would have become a ‘request’,
option ‘D’. If exclamation mark (!) would have been included, it would have become
a warning. So, option (A) is the correct answer.

Please note that this key is within the purview of
Oxford Advanced Learner’s Dictionary, published in 2014.
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